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N.B. .— () Attempt All questions.
(iz) All questions carry equal marks.
(zi1) Wrong answers of MCQs will carry negative marks.
() wd TRA e
(i) | YAM HHE T STRA.
(i) SEUAEl YEArSAT FehleAl STUH RUTCH 0T TR
MCQ
1. Attempt the following multiple choice questions : 10
TTeiiel Sguadl Iv Hiear :
@) According to census of 2011 population of Maharashtra was ...............
9.96 crores (B) 10.23 crores
11.23 crore (D) 11.50 crores
2011 =T m W AT o,
9.96 It (B) 10.23 =i
11.23 It (D) 11.50 =&

(i1)

Urbanization means ..................

Centralization of population in the cities
Decentralization of population in the cities
Centralization of population in villages

Increase of density of population
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IEHE AHEEIT halhivl TgT I

~

YRS AhEE

hhil TS I

Qedld AhEEAT halhill TIU B
ARG Sdd o1& B0 o™

What is meant by Green Revolution ?

Green coloured revolution

Changes in agricultural production

Changes in standard of living of farmers

Increase in proportion of employment

[al A N
gUd hIdl WUl I 7

(A)
(B)
(©)
(D)

o J a LI
[eXedl Ul snidl

Il IRAN TS STeIell a5

Which of the following statements is correct ?

(A)
(B)
©)
(D)

Irrigated area in Maharashtra is partially decreasing

Irrigated area in Maharashtra is decreasing

Irrigated area in Maharashtra is stable

Irrigated area in Maharashtra is increasing.

WAtdeh! hivd faam sie) e ?

(A)
(B)
(C)
(D)

fay

HelRIS [l

fal

STAfTETE &5 ST Ted 3T

HERTSITdl el

STAfdg=aTe &5 Hed 3R

S HREARITG

SRIEERIERRE R

HERTSTd e

STAfgeaTe &5 ded 378
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(v) Which of the following crops is not cash crop ?

(A) Jowar (B)  Cotton
(C)  Sugarcane (D) Banana
Ereflerden! Hod el o e 2
A) & (B) wIIH
C) 3™ (D) =

(vi)  Which of the following airport is not the International airport ?
(A) Pune (B)  Aurangabad
(C) Nagpur (D)  Mumbai
TICAUsh! IV faAMde € A famamde & ?
A) I (B) TR
(C) TR D) TR

(00777 I transport is fast though it is expensive.
(A)  Road (B)  Water
(C)  Air (D)  Railway
................. eq Wi el T8 FEE .
A) ™ (B) @
©) TR D) I

(viit) Nagpur agreement was made in .....................
(A) 1948 (B) 1960
(C) 1956 (D) 1953
TR L oo TSt HOAE ST
(A) 1948 (B) 1960
(C) 1956 (D) 1953

P.T.O.
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(07 J Committee was formed to evaluate the Regional Imbalance

in Maharashtra.

(A) V. M. Dandekar (B) B. D. Pande

(C) R. P. Kurulkar (D)  Sharad Pawar

HERISZTATe TaHTiTE STEAT=AT ST HUIEIS) [t €9 FHIoAd

STAT.

(A) LA TRH (B) gl W

(C) SR FHEeThT (D) g TR
(x) In Maharashtra first Railway Transport was started between ................

(A) Mumbai—Pune

(B) Mumbai—Thane

(C) Mumbai—Nagpur

(D) Mumbai—Goa

m tl'r%?*ﬁ iﬁ W ................. W %"FI\ ?Q:I'l?"ﬁ.

(A) G

(B)  He—am

(C)  HRE—ATTR

(D) el

Theory

Explain the size and growth of population in Maharashtra.
TERISCTAE Tk d&adl SRR 37Ul o T &l
Or
(feram)

Discuss the nature and problems of Road transport in Maharashtra.

ARSI T dlegehid @ed Ar[A faen aae=! ==l &

State the merits and demerits of Green Revolution in Maharashtra.

TERIT  SRashide JU-Qre §HT.
Or
(fenam)
Explain the causes of regional-imbalance in Maharashtra.

TSI IQf¥leh STHAdIa= R0 T .
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4. Write short notes on (any fwo) : 10
@) Trends in birth rate in Maharashtra
(1) Communication
(ziz)  Cropping pattern in Maharashtra
(tv)  Water Transport

g fear feer (el qHeR)

() — TR SR g
Gi) — EoeTerRd
((ii) VERISNA fUs
(lv) SRS,
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